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1. The sign of the cross-price elasticity tells us whether two commodities are complements or

substitutes, but the size of this elasticity measure tells us

a. how the supply side of the market reacts to changes in demand
b. whether the government should regulate the two markets
¢. which technology producers use d. how closely the two goods are related

e. whether or not excess profits can be made in either market

2. The Jones family is going to Disney World and has set a budget of $2000 for food and souvenirs. If Mr. Jones
finds a $50 bill on the ground during their trip and uses it to purchase additional souvenirs, then
a. souvenirs are a normal good b. food is an inferior good  c. souvenirs are a luxury good

d. the budget line has shifted to the left . the slope of the budget line has changed

3. If minimum average cost is the same over a large range of output,
a. the market will evolve into a natural monopoly b. minimum efficient scale is large as well
¢. only a few large firms will survive in the long run

d. smaller firms have a cost advantage over larger firms . firms of varying sizes can coexist

4. For a given level of output, the short-run total cost of production
a. always falls below the long-run total cost of production

b. always exceeds the long-run total cost of production

¢. always equals the long-run total cost of production

d. may exceed or equal the long-run total cost of production

©. may exceed or fall below the long-run total cost of production

W

The entry of new firms into a perfectly competitive market in the long run is most likely the result of
temporarily above-normal profit, despite the presence of barriers to entry
continued above-normal profit, despite the presence of barriers to entry

temporarily above-normal profit, combined with the absence of barriers to entry
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continued above-normal profit, combined with the absence of barriers to entry

e. either temporal ily or continued above-normal profit, despite the presence of barriers to entry
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6. Assume that the producers of an input have substantial economies of scale in their production process.
This input is purchased mainly by a group of firms in a perfectly competitive market that is initially in
long-run equilibrium. After all long-run adjustments are made, which of the following would occur in the
competitive output market as a result of shift in consumer tastes toward that market's product?
a. The market price would fall; the market quantity would rise.
b. The market price would rise; the market quantity would fall.

The market price would remain unchanged; the market quantity would fall.
d. Both the market price and the market quantity would fall.

e. Both the market price and the market quantity would rise.

7. Which of the following would be considered rent-seeking activity?

a. A software firm using lawsuits to drive competitors out of business.

b. A technology firm investing in extremely expensive capital equipment.
c. A large firm trying to charge lower prices than its competitors.

d.

An auto manufacturer using features and styling to differentiate its models from its competitors'.

8. Brittany provides manicures at the only salon in town. Her marginal cost is constant at $5 per client,
her fixed cost is $25 per day, and she is able to do 8 manicures per day. On a given day, half of her
clients are willing to pay $15 for a manicure; half are willing to pay only $10. If she charges $15 for

those willing to pay a higher price and $10 to her other clients, then her maximum daily profit equals
a. $55 b.$100 c.$60 d.$35 e $75

9. The influence of technological change on market structure
a. invariably leads to domination by a few firms b. depends on foreign competition
depends on whether it increases or decreases minimum efficient scale

d. tends to increase concentration e. depends on whether it increases or decreases the product's value

10.  We may not be able to predict the outcome of a two-player game when
a. each player follows a strategy that negates the strategy of the other player
price exceeds marginal cost  c. neither player has a subsistence strategy

d. neither player has a dominant strategy  e. at least one player has a bilateral strategy

11, Assume that the labor market for auto mechanics is initially in equilibrium. Which of the
following would lead to an increase in both the wage rate and employment for auto mechanics?

a. adecrease in the price of a substitutable input b. a decrease in the price of a complementary input
c. an increase in training costs for auto mechanics d. a decrease in wages in an alternate labor market

€. adecrease in demand for the output of firms employing auto mechanics
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12. The labor market for ultrasound technicians in Cleveland is initially in equilibrium. Which of
the following would lead to a lower wage rate and higher employment in that market?

a. adrop in demand for diagnostic services at Cleveland hospitals

b. adrop in the price of ultrasound equipment

¢. an increase in the length of training required for ultrasound technicians

d. ashift in potential workers' tastes away from hospital and clinical work

€. awage decrease for ultrasound technicians in nearby cities

13.  Suppose there are no firms, only the government and households. What would the total demand

for funds curve look like in such a world?
a. Downward sloping b. Perfectly horizontal ¢. Upward sloping

d. There would be no such curve e. Perfectly vertical

14. When the government is running a budget surplus,

a. the demand for loanable funds includes only business investment spending

b. the supply of loanable funds includes only business investment spending

c. the loanable funds market cannot be in equilibrium  d. there will be an excess supply of loanable funds
the supply of loanable funds includes only household saving

o

15.  If the Federal Reserve wishes to increase the money supply by $30,000 and the reserve
requirement ratio is 0.4, how big a purchase of bonds will the Fed need to make?
a. $75,000 b.$12,000 c.$1,000 d.$30,000 e. $3,000

16. If the marginal propensity to consume is 0.5, the income tax rate is 10%, and income rises by
$20,000, by how much will consumption spending increase?
a. $15,000 b.$10,000 c.$5,000 d.$9,000 e. $1,000

17. Since the value of the multiplier is always at least 1, which of the following is correct?
The size of the vertical shift in the aggregate expenditure line is always equal to the change in GDP

a
b. The size of the vertical shift in the aggregate expenditure line is always less than the change in GDP

o

The size of the vertical shift in the aggregate expenditure line is always greater than the change in GDP

~

The size of the vertical shift in the aggregate expenditure line is always equal to or
smaller than the change in GDP  e. The MPC is always bigger than 1
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18. Suppose the MPC is 0.85. If government purchases increase by $10 billion and net taxes fall by
$10 billion, equilibrium output will

a. fall by $10 billion b. increase by $10 billion ¢. increase by $20 billion
d. increase by $66.7 billion e, increase by $123.3 billion

19.  There are two kinds of changes in net taxes: First, net taxes can change if the government changes its tax
or transfer policies. Second, net taxes change automatically as income rises and falls, without any change in
policy. The kind of change sets off the multiplier process, while the kind of change
occurs during the multiplier process.

a. first; first. b, first; second . second; first. d. second; second. e. None of the above,

20. A zero inflation rate is not the Fed's objective because

a. that would cause prices to rise b, high rates of inflation may help labor markets adjust more easily
c. itknows that it cannot attain a zero rate d. that would cause price to fall

e. it believes that the true rate of inflation is lower than what is measured by the Consumer Price
Index (CPI)
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